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Relation between E and o is

4
E-1

o=

.
d?r

afd r =sinti +cost j+tk @ o T T ST

N
d2r

If r =sinti+cost j+tk, find o
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gfe f =3x°y S A H grad f A FaEA

If f=3x"y,findgrad f.

6xyi +3x2]+0k

g E=xy2f+xz j+22z%k Bra (curl E)Eh‘rnﬁ%ﬁTrrl
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R
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1p F=XYTHXZJ+22°K e of div (curl T ) is

0
o r =t -2+t - DK ofic s =2 +6tk At [ 1.t

If £ =(t7 2]+t ~DK and s =2t% +6tK value of [* r.sdt is
12

aft F o smepff afker At curl F o om 2

If E is a irrational vector then value of curl E IS
0

AfE ST T T h &, @ E° f(a) s wm g

If difference interval is h then value of E?f(a).



Ans.  f(a+2h)
Q.8  afe x s ufwr [10, 100] 2 wsi & x =20 a1 f(X) HF e sheeAT & A &H T B
If [10, 100] is range of x and we want calculate f(x) at x =20 then we use.
Ans.  Newton-Gregory forward interpolation formula.
AT 37 ST G
Q9 HENE y, s W@ E HESY AT
Relation between g, § and eis.

Ans. ,u:é:E%

2
Q.10 zr%?:tf—3j+2tl€€ra%t=0qr%w:rma1m
Cotisjaak, O t=0
if T = =31+ 2K hen 5 value of at ' = Vwill be.

Ans. _Sj
Q11 3Rk g(x,y,z)=3x"y-y’z* &rarfag (L -2, 1) ®grad ¢ &1 am awm?
If #(x,y,z)=3x"y—y°z? then value of grad ¢ at point (1, -2, 1) is
Ans. —12{-9j-16k
Q.12 3fd F=xz*—2y =l grad F o A &1 812
If F=xz>—2y what is the value of grad F .
Ans. 721 —2]+2xzk
Q.13 2 usY % wex fopelt forrg P 9 o 61 & 21etT
Angle between two surfaces at a point P is.
s csp TR ), (Gad g
(orad ), {(orad ¢),
Q.14 i wad X © wram e (h=1)
Value of factorial function X © is
Ans.  X(X —h)X =2h)X —3nh)X —4h)
Q.15 T®NE E, § T A T e 2IaT 2
Relation between central, forward and backward difference operators is
Ans. S=AE’2=E’2A

Q.16 R a=2i+2j—K 3 b=6{-3j+2K &dr axb FaFEm

If a=2f+2]—K and b=6i—3j+2K value of axb will be
Ans. 1-10j-18k
YA 37 ST G
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Ans.
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pid E:x2f+2yzj+3x2212 grardiv (curl E)‘eh‘rm%ﬁTrrl

C_ 28 0 2
If F=xT+2yzj+3x°k value of div (curl F)is.

0
TR F = y4 +x2] —(x+2)k @rercurl F o0 o s

If F =y +xzj—(x+z)I2 value of curl F is.

T F(t)=ti+(t2 —2t)j + (3t +3t° K %\T?ﬁj (t)dt s

If F(t)=ti+ (2 ~2t)] + (32 + 3K value of [ F(t)dt is

i ¢p=x*+yz SAIgrad ¢ H HH FARY

If ¢=x"+yz, value of grad ¢ is.

2x. —7 ] +4k

E dar A H Hee od18y)

Give the relation between € and A .

E=1+A

T % e ST ST FHTShe T Shid 9 foU T Saaret bl forvfora shed €

While using the formula, the given interval of integration must be divided into sub
intervals.

Even no. &% g&am

afe x srafEr [10,100] B us g x =50w f(X) i 7 S el & & &9 FET R
If [10,100] is range of x and we want calculate f(x) at x =50 then we use.
AT S S T

Central difference interpolation formula.

U E @ o § 9y 9dsy)

Relation between E ando is.

Y
(E-1)

af a=2f —3]—K @ b =i +4]—2K 2rdr bxa =&

If a=2f—3]—K and b={+4]—2Kk value of bxa.
~10i —3j—11k
curl (grad ¢ ) =T = g



Value of curl (grad ¢) is

Ans. o (3= wtezn) Null Vector.
Q27 aft At)=(3t" ~2t)i +(6t—4)j+4tk et [ A(t)dt e dm

If Alt)= (3t —2t)i +(6t—4) ] +4tK, value of is sz\(t)dt.
Ans. 141 +11j+10k
Q.28 A3e* wIuM M
Value of A3e”is.
Ans.  3e*(e"-1)
Q.29 THWF E, V qo1 § HHaT BT 2
Relation between E, V andis ¢ .

Ans. S=E’v

Q.30 N Hife o G F A B &2
Equation of ™ order have roots.

Ans. n

Q.31  3farehet Wi %:H y, y(0)=1Fr=ifz 2
X

The order of differential equation % —x+y, y(0)=1is
X
Ans. 1
Q.32 afe A= St +t3] —tk qen B=2sinti— jcost+5tk grar %(Z\g) T AT BT 2

If A=st% +t°j—tk and B=2sinti — jcost+5tk, value of is %[A.B).

Ans.  20tsint+7t*cost +t*sint—10t
Q.33  HfeT 31ashal GehReh V T Tl shifsy
Define the vector differential operatorV .

Ans. V:f2+j£+k—
ox "oy

Q.34 U =R A a o ST 3 B 2

N
Divergence of a constant vector a is.
Ans. O

Q.35 H#Re E Wd D ¥ Gee Famgy)
Relation between operators E and D is.
Ans. E=¢"

Q.36 fomwa % T g SeTeTe FHTeheT [T Shid TR TST 1T STt i forvTieid &htd 2l




While using Simpson’s % role, the given interval of Integration must be divided into

sub intervals.
Ans.  Multiple of 3.
3 % T H|
Q.37 U&N&E e, § AT V H Haiyl Farsy]
Relation between E, § and Vis.
Ans. 5 /2y
Q.38 ¥ f(x)=(ax’ —1)box® +1)fcx+1) Erdr h=1 Fram 2m
If f(x)=(ax® ~1)ox® +1)cx+1) , h=1then value of A°f(x) is
Ans. 6 (abc

Q.39 afafwreem F(t) s dmrar dz—t(t) 3T A BT

If E(t) vector function is constant thenvalue of is dg—t(t) :
Ans. 0
Q40 =R a=2-3j—Kamb=i+4]—2K 2rar axb & aw A

If a=2i—3]—K and b=i+4]j—2K ,value of axb is.
Ans. 107 +3]+11k

Q41 uwaRs F e afer Feemdr & af
A vector E is called solenoidal if.

Ans. div E:v.E =0
Q.42 TFHNEF € Ud V H Teiel Fa1sy)
Relation between operators E and V is.
Ans. E'=1-V
Q.43 THE €, § TIT A T Hae 9130
Relation between E, 6 and Ais.

Ans. 5 AE 2
Q44 afr f(x)=(3x+2)Bx% +1) h=17rar A f(x) 1 m rm

If f(x)=(3x+2)5x2+1), h=1 then value of A2f(x) is.

Ans. 90

Q.45 Iz I gRT AT Ut JTd hd TH U 7T Siawret s faarforg s &
While using Weddle’s rule, the given interval of integration must be divide into sub
intervals.

Ans. 6% U
Multiple of 6.



Q46 @R a=2i+]—3K 3 b=3(—2]—K &l a.b &M &
Ifg:2|+1—3kandb 3i-2j-k, valueofabls

Ans. 7
Q47 aft r =t 2]+ (t—1K 7o s =207 + 6tk AT [ rx s dt o dhm
If r=ti —t2]+(t—1)K and s = 2t2f + 6tk valueofj rxsdt is
Ans. gz—24f—4—0j+%12
3 5

Q.48 aﬁl—:)=(1f+%]+ kjﬁr?ﬁcurl F 1 =M 2

If F :(lhl i+£l€} value of curl F is.
X y' oz
Ans. 0
Q.49 afd x wrufer [10,100] 2w gf x =507 f(x) T A e AT 2 it 9 T Ry
If [10,100] is range of x and we want calculate f(x) at x=50 then we use.
Ans. T 3 ST T

Q.50 U IR HEfew a = T W B

A
Divergence of a constant vector a is.
Ans. 0



